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QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting the paper)

1. The Paper consists of two parts:
a. Section 1: Essay
b. Section 2: Multiple Choice Questions.

Section 1:

a. The Essay must be wri clearly stated on the cover of
the Answer Booklet in the space provided. No,marks will be given for answers written in the medium
other than the three mentioned above. b

b. Word limit, as specified must be adhere ‘h
b 'hk e Answer booklet must be clearly struck off.
Write two essays, choosing one to

c. Any page or the portion of the page le
owin d B, in about 700-800 words each.
(50 x 2= 100 M)

TTHAT 700-800 Tl H, ﬁaﬁr@amﬁwﬁ@rgﬁﬁwﬁmmwﬁa ey ford |

Section A

1. Youth is a blunder, manhood a struggle, old age a regret.
ST U T 8, Ha ! U o, 3R g Uk MmN g

2. Modernity is a qualitative, not a chronological, category.

YT T et Joft §, 7 fos Prargsniae goft |

Section B

1. No legacy is so rich as honesty.

B13 1 uRIG SAFeR Rt g9 T Bt 8
2. Impact of COVID-19 on your personal life.

3T A%l e TR coVID-19 BT UHTT |
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A Section 2

INSTRUCTIONS

Immediately after the commencement of the examination, you should check that this booklet does not
have any unprinted or turn or missing pages or items, etc. If so, get it replaced by a complete test
booklet.

Encode clearly the test
answer sheet.

You have to enter Roll Number on the Test BBoklet in the Box provided alongside. Do not write

anything else on the Test Booklet. \\ “

This Test Booklet contain
comprises four responses
Answer Sheet. In case you
In any case, choose ONLY ONE response for each,ite
You have to mark all your responses ONLY on the s
answers sheet.

All items carry equal marks. Attempt all items. Your total marks will depend only on the number of
correct responses marked by you in the answer sheet. For every incorrect response 1/3rdof the allotted
marks will be deducted.

Before you proceed to mark in the Answer sheet the response to various items in the Test booklet, you
have to fill in some particulars in the answer sheets as per instruction sent to you with your Admission
Certificate.

After you have completed filling in all responses on the answer sheet and the examination has
concluded, you should hand over to Invigilator only the answer sheet. You are permitted to take away
with you the Test Booklet.

e appropriate place in the

in English and Hindi. Each item
ich you want to mark on the
esponse with you consider the best.

ate Answer Sheet provided. See direction in the

Sheets for rough work are appended in the Test Booklet at the end.




1. With reference to Ghadar Movement, 2. Consider the following statements

consider the following statements: regarding Western Coastal Plains:

1. The main objective was to 1. They are a product of
establish an independent submergence of land.
republic of India. 2. They are drained by several

2. The success of the movement short and swift streams which do
lied in the strong and effective not form deltas.
organizational structure. 3. They are indented with many

3. They did not find support from natural ports.

the civilian population in Punjab.
Pop J Which of the statements given above is/are

Which of the statements given above correct?

is/are correct?
a. land3only

a. land2only b. 2only
b. 1and3only c. 2and3only
c. 2and3only 1,
d. 1,2and3 _ ‘ ‘
A 2. R ad At v
1. mmﬁmﬁﬁﬁmﬁm ‘ PR S S
FUAT R TAIR Y

1. d A & STelHIs glot &l Teh

B CA
2. 2.3 S BIE 3 ST URI3HT GaRT
' §g ST & S Secl I8! Se71

1. ﬁmmumwwmﬁ?
IMURTS T AT AT

2. 3fiGTele shl Hheldl o AT 3R

ST HITSeATcHe & H SIS el 5

S S IR ST 3. d &% YTehicieh Seamel 4 IR ¢ |
T TN et IR RUITHUA AT T T T/ E>

IR U ITHFIA HF A FT AT T E / L St

& b.  &del2

a. dhdel 1312 . ) 33 &

b. hder 13K 3 o 1233

C. 23-ﬁT3éT 3. Which of the following defines the

d. 1,233 meaning of 'Corporate Governance'

more appropriately?
a. Itisthe accountability of the
Company's management and




owners towards the regulatory
authorities.

b. Itisthe accountability of the
Company's management and
owners towards its shareholders.

c. It stands for how corporations
govern each other.

d. Itisthe accountability of the
Company's management and
owners towards its employees,
shareholders and general public at
large.

3. [Arfaf@a & @+l 'Hralke geamras
& 37T Y ¥ 3T FTH TRI™T
FLATR?

a. %M%Wmﬁw 4

b. | IE HUsIT h JaElT 3R 3T
IR YR & Ffd ATfershl
SaTecer gl

c. dragsaadHfevgfesa
fo¥eTa Teh g IX AT A B |

d. | Ig el oh g iR I3 TR
U 39 AT, I R
3R 3179 ST o i Arforent
ERCGICAI R

4. When the digits of a two-digit number
are reversed, the number increases by
27. Sum of the least and the highest
such two-digit numbers is-

Qa0 T o

85

. 93

110
83

4. aaaaa#aﬁrma;%msrrﬁ%
A EEIT 27 A 96 AT & I8 A 31T

Y 3178k U &I 37ehi h! HEAT Blcil o-
a. 85

b. 93

c. 110

d. 8

5. Which of the following are the positive

impact of forest fires?

ire-dependent trees in
persion.
s'diseases and harmful

"It dleans the forest floor.

Select the correct answer according to
the codes given below.

a. land2only
b. 2and3

c. land3

d. 1,2and3

5. fAafaf@a & O i STl &1 3T 1

HRRIcHS THIT g7

1. I8 9T herra & 3mer W foeR ot
&I AGE FAT o |

2. Ig SRAT AR grfeeres st

HIARAT &




3. g del ool I AT T o |

AT fT 91T 15 o TR FEY 37X
TIeT F|

a. Had13iR2

b. 23iR3

c. 13ik3

d. 1,233

6. A family consists of three sons and their
parents. Average age of the family is 20
years. Average of the ages of second
eldest son and parents is 24 years.
Difference betweep paren
together and second eldest son is 48
years. Ratio of ages of second eldest so'm(
and eldest son is 2: 3. What is the ag of
the youngest son?

a. 10years
b. 20vyears
c. 12 years
d. 15years.

6. T TR e 92 3 SAF HAT-
T g1 8 | IRER I 3 3mg 20 a9
&1 GE 99 9 3N ATT-TAdT 1 31 1
3 24 a¥ § | Tk G ATAT-TAAT
3H A I IR Fe@ a8 e H 37
48 WTT &1 GEX g3 d¢ AN Fe@ a9 9
Y 3H T AT 2 8: 3. FTH BIC A
I 3HFATG?

a. 10 Gl
b. 20dTd
c. dNg dlel

d. Yogg dlel
7. How does Shadow Banking differ from
commercial banking?

1. While commercial banks are tightly
regulated, shadow banking
regulation lacks transparency.

2. While commercial banks can
create money being depository
institutions, shadow banking
cannot create money.

3. While liabilities of commercial
banks are insured, shadow banking
liabilities are not insured.

4. While commercial banks have
access to central bank liquidity in
the times of distress, shadow
banking does not have such
recourse.

Select the correct answer using the

delow.
only
1 and 2 only
ATION N2, 3 and 4 only

d. 1,2,3and4.
7. AT Ifeher AIfOIGTS ke T FA

AT g g2

1. Safs aforfSaes ot it wae
fafaafad forar Srar g, orar
dfehar fafagaa & urefRiar &
HATTZ|

2. Sdfh arfoifsges d& Buifeed

HEATA gled oh AT AT §1T Hehdd
&, der dferer Sar 78T s TR
gl




3. Safe afoifsaes St fr 1. Tafas 3a3 &l Aafsh
AT ST STAT fohAT SATAT 3T fAEEY I 35l T T
ST SfRaT TRt T ST HhT gl
STel fohaT SATaT 8| 2. e 9T Hl S FA &

4. Siafe arforfeTes di & g e fore 3meiy fAedr & fAemar
o THT H e 1T seh T el ST gl
o uge 8, Ast ket Az@ g 3. FIWRUITHAAT H A HiT AT
BT HT A & e/ 8

AT feT 37T I T 3TATT Feh ol a. 18r

3R A b.  hdel2
a. 18 R —— gl 1 3R 2
b. Had13iR2 d.  SJari13iRagr2
c. 2,33R48r

d.  1,2,33R4] l
8. Consider the foIIowmgM\ts\

HNIALTH B

regarding soil health:

1 Excessive use of chemical
fertilizer can make the soil
acidic.

2 Organic matter is added to
acidic soils for neutralization.

Which of the statements given
above is/are correct?

a. lonly

b. 2only

c. Bothland2
d. Neither 1 nor2

8. Hol Ty & aR H fAefaf@d
FUAT W [TTR A

AL MON

2.

aign, which of the
ements is/are correct?
ing implemented all over the

FOUNDATION
country.

It is a joint initiative of Ministry of
Women and Child Development,
Ministry of Health and Family
Welfare and Ministry of Human
Resource Development.
Sukhanya Samriddhi Yojana is an
initiative under Beti Bachao-Beti
Padhao campaign.

Select the correct answer using the code

given below.
a. lonly
b. 1and2only
c. 2and3only
d. 1and3only




9. SCT TATHT-SET T3 HTRITA o HeaT
H, Ffaf@a # a sla ar sy agre
/&2
1. UYL H A fhar ST T & |
2. g Afge 3R 7ol [ahrd HATerd,
ey 3R IRaR Feamor
HATT 31T ATAT AT Tahrd
HATSTY &l HYFT 6 ¢ |

3. ST TAI3-SET YaT3 AT &
TE &

« o
AT feT ITT IS T 3TATT Fleh Jal 3T

el |
a. 1@r o
b. Hae13ik2
c. 23R3E
d.  Sad13R3

10. Which of the following is/are not the
functions of the Election Commission of
India?

1. To conduct the election of Speaker
and the Deputy Speaker, Lok Sabha.

2. To conduct the election of the
Municipalities.

3. To decide on doubts and disputes
arising out of the elections of
President.

Select the correct answer using the code
given below.

1and 2 only
2 only

2 and 3 only
. 1,2and3

10. AEATATET & A it R & Lora
AN & PR E / A6 672
1. SREHT 3TETeT R 3TFATITd,
SAIHEHT T YoATd T |

o 0 T o

2. o-ldl{blllrachldﬁa?ga-lld T ATl
T & foT|
3. USgUTd & Folrdl § 3cee glel

E— aTel T 3 faamel W v

AT
i fEU 37T I8 T 3T hieh Tel
IR
a. Haad 132
b. @|Hdel2
W @aawas
d ©l1,23R3

11. With reference to Ramanuja, a famous
Bhakti saint, consider the following
statements:

1. He preached that for salvation grace
of god was more important than
knowledge about him.

2. He tried to link Bhakti with tradition
of Vedas.

Which of the statements given above is/are
correct?

a. lonly




b. 2only
c. Both1land2
d. Neither 1 nor 2

11. STy s1ferd T THATT ST & Heol 7,
IGEEICICRE TGRS T C IR T8
1. 39« TR fohar o qaat fr

AFT S USRI A AT A
eI AgcaquT AT

2. 3egiel AfFd FT IaT I R A
SISst T 9T foha|

3. IR fEU AT HYUAT H & et AT
qETE/8?

a. 1?[

b. Hhdel?2

C. gt 1 3R 2

d. SFari13iR=gr2 l

-_— -

HEALIN &

12. Consider the following statements:

1. Anincandescent bulb converts
electric energy to light and heat
energy.

2. A Light Emitting Diode (LED)
converts light energy to electrical
energy.

Which of the statements given above
is/are correct?

1 only

2 only

Both 1 and 2
Neither 1 nor 2

12. AT FY=r 9 oA 3

o 0 T o

1. Ueh AT o fdegd ol &l
TehT AR FSAT ST A IRafdd
ERG N

2. U YehIel 3cTaleh SIATS (LED)
ST St ol fde g Fotl &
aRafda marg|

3. FWCUIT HYAT H A hleT AT
Tere /87

a. ar
b. Q| shadl 2

alar 1 31K 2
TJar1 3T

nce to Biodiversity Finance
FIN), consider the
ements:

a bilateral initiative between

"""India‘and France.
2. National Biodiversity Authority
(NBA) is the implementing body in
India. Select the correct answer
using the code given below.

1 only

2 only

Both 1 and 2

Neither 1 nor 2

13. éafafaamfa?rqm(BlomN)amaa-‘r

o 0 T o

#, e Y= 9T faar a3
1. Ig AR 3R % & &g Teh
afaueiT gl |




2. U~ S fafaear wrfenor 3. FR U ITT HYT H F it @1

(NBA) HIRd H STl [ Tere /8?
g1 =1 T aTw s &1 3uATer a. 18Y
h¥eh HEl 3T el | b. Wl &Hde2
a. 1?[ C. E\"IH'I 13R2
b. hdel 2 d  dAdri3diRaTE2
c. aer13iR2
d. FlFgarliRaar 15. WI'Fh reference to G.Iobal Alliance for.
Incinerator Alternatives (GAIA), consider
the following statements
14. Increase of the quantity of money in the 1. Itis anintergovernmental alliance
market is a measur, i of developing countries
growth in an economy. In this context, responsible for the majority of
consider the following statements: .( global waste production
1. It may lead to fallin prices of o 2. It supports and advocate for fair
commodities in the market. @ wages and safe working conditions

agpickers. Which of the
nts given above is/are

2. It may lead to increa

Which of the stateme

is/are correct? o only
' 2 only
a. lonly c. Bothland2
b. 2only d. Neither 1 nor2
C.

Both 1and 2 15. SRR ecaifeed & forw seliaer
d. Neither 1 nor 2

14, AR 3 &1eT &1 HT H ge Ay T 37T (GAIA-Alliance) & TeaT H,

HITTEAT H g [ I Wewrfgd Ht R T T
T T ST R | o e A, B 1.  Ig 3fgss 3rafdse 3curea &
FUAT R [ATR Y agmr%i%rtrﬁma?
L e AT A et B B TaarTaeiier &21F T Ueh 3TR-
faRTace 3T B T EE
2. O NCATEAT A SR A 2. g TR o forw 3faa Asrel
3R GRI&IT HraehTSi

ELBEIRETIN




aRRfEufadl & faw a@de 3k

ganlold dT g | 3 feu are

FHYUAT H H hled ATHET G / 82
& 18"

b.  @|Hdd2

c. gEr13R?2

d. Far13iRaTgr2

16. Which of the following is/are correct
regarding duty credit scrip?
1. lItis a certificate that can be used
by its holder for the payment of
import tariffs,

2. They are issued to exporters by the
Director-General of Foreign Trade"o(

(DGFT).

Select the correct answer using
code given below.

1 only

2 only

Both 1 and 2 .
Neither 1 nor 2

16. SYET hisc &hT & HIU H
Arff@aAaslTarads /82
1. Jg Uk YATUT 97 ¢ [TaehT 3uTer
S YR SaRT ITATA Yok &

o 0 T o

ST & T R ST HefeT
2. 3 T3S AR AGIAGLIS (DGFT)
AT ot &t Sl e o
gl
A feT 37T IS T 3TN b Tl 3T

T |

Il

17.

17.

a. 1@

b. Wlhdd2

C. alar 1 3R 2

d. dar13iRk=Tgr2

A person walked 10 km towards west
from point A, then moved 8 km towards
north and reached the bus stand, then
he walked 6 towards east and reached a
school. From school, he walked 12 km
towards his right and then moved 9 km
towards east and reached his home.
How far and in which direction is the
school from his house?

a. 13 km, south-west

b. 12 km, north-east

c. 15 km, north-west

d. ii I:m south-west
Ua?—af?afagAﬂqf\aﬂﬁmlo

ﬁwﬁ’rwﬁww@raﬁsﬁnﬁw
mwﬁgwqgmfﬁwageqéﬁ
3R eIl 3R Ueh Fehel H T 1T

ol H, % 37941 &Tfgat 3R 12 foheft

Telr 3R T 9 et g &t 30T =rer 3
3R 379 TR I | 3 X H Fhel

feheteit g 3R foha fem a4 &7

a. 13 [T, glgiorgiRgs

b. 12 faRa, 3a-qd

c. 15 fhaY, IR9fREH

d. 15 foeT, glator-afRan

18. Consider the following statements:




1. Fiscal deficit is always greater than a. lonly
Revenue Deficit. b. 2and3only

2. Fiscal deficit is always greater than c. land3only
Primary Deficit. d 1,2and3

Which of the statements given above
is/are correct?

19. 37-TaFaIT 3R AR & 3T [AAOT

a. lonly
b. 2only T 3, AT Fuet 7 R
c. Bothland2 =
d. Neither 1 nor2 :
18. fAFATIET YAl ) IR e 1. 9§ PR T
1. TR ETeT ST 11 & 2. 3gIsT gfeFers BT T BT
gaem Ik grar g HER H 37eqdre T
2. ST ST gAeT ITUfHE 3. 3egiol el b AT T IR
. P |
grer 8 3ifiw giarg | b WWW%%@
3. IWRUITHEAIAIRTA | 3refacia =7er 2|
/& SR 0 ITC 2l A W Pl AHE T/
a. 18r N o g7
b. G| shdel 2 ‘a. 18T
c. a1 32 b. 23R3&
d.  ddr13Rad c. Had 133
d 1,23R3

20. With reference to Troposphere,
consider the following statements:
1. The height of the troposphere
increases from Equator to the
Poles.
2. The height of the troposphere is
higher during the summer season.

19. With reference to Al-Biruni and his
description of India, consider the
following statements:

1. He was a Persian.

2. He translated the works of Euclid
into Sanskrit.

3. He noted that the four social

categories of society were not Select the correct answer using code
unique to India. given below.
Which of the statements given above is/are a. lonly

correct? b. 2only




c. Bothland2 d. 1,2,3and4

d. Neither 1 nor2 21. AR & Pl Teaarer
20. TAIEHIIT & Tl H, rfaf@d .
FHYeAl I TITR H: ‘
i A 1. UoT # TSCUld e oot hr
1. SIOEhRR & 5918 AeT W@ d T
o S Sl | 2.  Usgfd & f[aaR & few teh
2. I FIGH H NS B S T8I T 3TRETOT
IF BT B
¢ 3. SId dg [aUTTaHT o faearg &t
I T 7T I 1 3TN =l TE I N
e |
> gRue & @IS T ST
. 1 o .
@ & w— T STASTdr forelr IRwer sr
b. hddl2
A & TfRr feRoT @l
. Eflﬂl 1 2 «
‘ SR ‘ W%ﬁvﬂlsua J ured
d. dar13iR=T8r2 ' ?%m:ﬁn
;h?} T 3TATIT Fleh
21. Which of the following -ﬁ\'U-ﬂTQ'ﬁ's' F@'B_tﬂ'
Governor's constitutional'discretion? ?:Iffl
1. Recommendation for the imposition r \ o
of the President’s Rule in the state a 1,233
2. Reservation of a bill for the b. hdd 1,2 34
consideration of the President
3. Dismissal of the council of ministers ¢ 3314
when it cannot prove the confidence d. 1,2,3 3Na
of the assembly 22. With reference to GDP deflator, a
4. Determining the amount payable to measure of general price inflation,
autonomous Tribal District Councils consider the following statements:

as royalty accruing from licenses for
mineral exploration.

Select the correct answer using the code
given below.

a. 1,2and 3 only
b. 1,2and4only
c. 3and4only

1. GDP deflator is more

comprehensive measure of
inflation than consumer price
index and wholesale price index.
Unlike WPl and CPI, monthly
change in inflation cannot be
tracked using GDP deflator.




3. A GDP deflator value of zero
implies no change in price levels
from the base year.

Which of the statements given above
is/are correct?

1 only
1and 2 only
2 and 3 only
d. 1,2,and 3

22. ST (GDP) 39EhIfa & Ty &,
AT Hed HETEHIT I Teh 301,
fArfafad Fuet o faaR

0T

23. Consider the following statements
regarding Fundamental Rights and Legal
Rights:

1. Both Legal rights and fundamental
rights are protected by the
Constitution.

2. Fundamental Rights cannot be
amended whereas legal rights can
be amended.

Which of the statements given above
is/are correct?

a. lonly
b. 2only
c. Bothland2

1. silélmi%cm«awqaﬂ?am‘}a -~ d. Neitherl1nor?2

Heehieh 3R e Hed Yo [

I JolelT H Herehifd 1 31feeh
ST9eh AT g | |
2. WPI AR cPl & fawId, Heredifa
H ATfAH IR sl ST
TR T 3TN b o
STg fohdT ST HehdT g |
3. QT SIS HYERI Hed &
HATOIS TR aY & Hed T H
IS SEeTd A &
FREUIATHYA H A PIT AT TS & /87
a. 18"
b. "WlHhdaa13iR2
c. 2338
d.  1,2,3R3

23. Hiferen 3TASRT 3N HIefsit BRI &
IR # Ao f@d Y« ) faarR
1. 211 Slefail TR 3R Hifcrh
_HﬁERHﬁwﬂa(am
R
2. 7 IR 3 FrefereT 1
R ST AT § STafeh
HIoTeT ITTRHRT 7 FelersT
T ST asRar g
3.3W feU a0 Hy=A 7 & HieT @
qEIe /82
a. 1gr
b. hdel 2
c. aEr13iR?2
d. ddr13R=gr2




24. Which of the following was/were the
cause(s) of failure of the revolt of 1857?
1. The kings of Kashmir and Nepal
helped in suppressing the revolt.
It was mainly feudal in character.
Lack of coordination in the uprisings
in different parts of India.

Select the correct answer using codes
given below.

a. land2only
b. 2and3only

c. 3only

d. 1,2and 3 only

24, AFATITRT H A hieT 1857 & fagig Hr

b. SPIfocuses on outcomes rather
than inputs that are used in GDP.

c. SPlincorporates social factorsin a
better way compared to GDP.

d. SPlis built on the basis of
Sustainable Development Goals.

25. HIATTST YaTTe Fahieh (THUTS SP)
el ShTerT Hehel BC] 3cUIG o HTEAH

AW F AT R TS Jfa g
a.  TgUTS (SPI) SNy (GDP) it
ofelT H T8I e &

b.  SPI Hehel Bl 3cUTG H YT

| E— \ X
S —— T STt aTel 3A9C & ST
1. AR 3R A9Ter o TSM3AT o RO R &
Pe s dm @ ¢ TS
2. I ALY ®9 Y IR H FreAdr AT TSI T T TEHR I
' S
3. STRE & e 31T e 3 wer e FATR
Y 38M9ceh H AT hl ‘dd’ T3S T GG E
PR oT&gT & TR 9 fohar STar g |
i T 31T Sl 1 3TANT leh Tel 3R
‘ 26. Snow line is line above which no
af“ vegetation grows on high altitude
3 Faer1 32 mountains because of permanent snow
' cover. Which of the following reasons
b. 233 & best explain why snow line is higher for
c Sge3 Eastern Himalayas as compared to that

d. Fad 1,233

25. Social Progress Index (SPI) is an
advancement over the measurement of
progress through GDP per capita as

a. SPlis more comprehensive than
GDP

of Western Himalayas?

1. Eastern Himalayas are near to the
Equator.

2. Western Himalayas are more
continental in their location thus
have lesser maritime influence.




3. Moderating effect of southwest 1. A Free Trade Area/Agreement has

monsoon on the Western little or no tariffs among member
Himalayas. Select the correct answer countries.
using code given below. 2. A Customs Union is a Free Trade
a. land2only Area/Agreement wherein each
b. 1and3only member sets its own tariff policies
c. 2and3only towards non-members.
d. 1,2and3
Which of the statements given above
26. A1 13T dg Y@M g oTdeh F9T Ty is/are correct?
% o AT & HROT Hig i T a. 1lonly
. . . b. 2onl
SIS aTe) TgTSt O AET Sadl &1 aiee Y
c. Bothland?2
fE#Ter dhr Jefett # A& SRt d. Neither 1 nor2

H U hieT AT HROT qdT g & feIw 27. TaTHeT SqTaTRen TG & HIU H

adswm%,agmmw.! fArafafaa sy ) TarR w3
22 1. HEET Rl & oI Ueh Hefel SATIR
Ll e s e v ¥ » B T 3 g o S
2. URGH RATET 3= T R  yewadE
38 FAgledaT g 3R 3E I Lz. Teh HIAT eh HE Teh HeFl
FehTR T STHTT o | o AR &1 / TS ¢ oras
3. ufRgs RATeT W gfaor-aitas Scdeh HeE T IN-HeE! & Iid
AT T AEIH AT | A 3T T T R AT
few 1T I3 T ITNT FIH T fAuiRa sear |
3R g | R T T 2T H F T ATHET & /
a. Shad 132 g7
b. Sad13iR3 a. 1@
c. 23k3 b. a2
d. 1,233 c. gEi13R2

d. Far13ikaTgr2

27. Consider the following statements with
regard to different trade groupings:




28. Which of the following are the essential
features of a federal system of
Government?

1. A written constitution
2. Single citizenship

3. Bicameral legislature
4. Emergency provisions

Select the correct answer using the code
given below.

a. land2only
b. 2,3 and4only
c. land3only
d. 1,3and 4 only

28. AT T # & &l @ TR &1

a. 1-2-4-3
b. 3-4-2-1
c. 3-24-1
d. 1-4-3-2
29. 3o & T&TT e fol=T Tdiet H@e3it
T STTEUT

1. dremgre IS

T JUTTel T 3TaeTeh [aAvary g2
1. T faf@d g@iaure

2. Uehd ARTRS

3. &R (Bicameral) faemfRenr
4.  TUTRTolleT HTaes

mmmmwm%w%
gal

a.  Shad13R2

b.  2,33R4&

c.  Hhad13R3

d.  »da1,334

29. Arrange the following mountain ranges
from North to South:
1. Balaghat Range
2. Satmala Range
3. Satpura Range
4. Ajanta Range

Which of the code below gives the
correct arrangement?

2.  HAATATIS
3. HAYSTIA
4.  HSAATISA
ra faT 910 &l & & Sl & T cgaedr
— T &2
v | a 1-2-4-3
| ‘ b.  3-42-1
| c. 3-2-4-1
d. 1-4-3-2
n following statements

garding the offence of ‘money

aundering’:

1. Itis a standalone offence according
to FATF (Financial Action Task Force)
rules.

2. India made money laundering a

standalone offence after becoming a

member of the FATF.

Which of the statements given above
is/are correct?

a. lonly

b. 2only

c. Bothland2
d. Neither 1 nor 2




30. FAT AlTo-39T oh T o AT H

=

g deard g Ao H Teh olsdlleh
s gl

2. IE fe w7c & 9 Qe & o e

gl

FIR T T FHUAT H A DT AT TG & /
87

a. 1@

b. hdd2

c. GEr13R2

d. Far13iRk=Tgr2

AT T FYU=T R AR S

1. Jg UhUSIUR (FISA 1T TFAT
TTEh YY) g o 3THR Teh
TES3TelleT TRTT B |

2. HRJ o FATF I TGEYT dslel o d1G,
Teh TTHYUT 3L & ToIw
eTeTRere foha|

IR RUITFHFIAN T RTATTE &/ &2

a. 1@r

b. hddl2

C. alar 1 3R 2 ‘

d. Adr13iR=Ter2 ‘

31. Recently, Indian and
clashed along the Pange 2 in
Ladakh. Consider the followingy a1 111 & ¢
statements regarding Pangong Lake:

1. Itis alandlocked lake in the Ladakh
Himalayas.

2. ltis part of the Indus river basin
area. Which of the statements given
above is/are correct?

a. lonly

b. 2only

c. Bothland2

d. Neither 1 nor2

31. g7l &1 H, digare A Hariar el & fohatk
R 31T Al AATT @1 91| Satiar
gireT & IR F ferafafld Fuer )
IECINEDE

32.

LATION
C

32.

Moving from Jammu (Jammu &
Kashmir) to Aurangabad (Maharashtra),
what is the minimum number of states
o pass through (including
end point)?

d. 7
STFHA (ST 3R R § 3REmeETG

(FERTSE) | Teld gy, T T 7 GTcTA

HEIT AT & ST Tehdll ohY IoTAT ISl &

(IRTER 3R 3ifre foig Afge)?
a. 4
b. 5
C. 6
d. 7




33. Consider the following statements
regarding meaning of Boddhisatva:

1. Previous lives of Buddha

2. Human being committed to
enlightenment for sake of others.

3. An object of devotion.

Select the correct answer using the codes
given below.

a. land2only
b. 1and3only
c. 2and3only
d 1,2and3

33. SIS & 37 & aR A Ao foriad
FHYAT 9T TTIR -
ety T fUsel Sfiaet
GERT T @I’ A=A o faw
EIGECUESIC]
3. HRFIHraEdl
mmmmwm-m%%
gal

1.

2.

shael 1312
G| shdel 1313
2338
1,23R3

34. Which of the following may occur when
an economy is suffering from “liquidity
trap”?

1. Speculation that interest rates will
decrease.

Continuous increase in bond prices

Speculative demand for money to

become infinitely elastic.

Select the correct answer using the
code given below.

a. lonly
b. 2and 3 only
c. 3only
d. None

34, AT d H A HiT AT AT &I AhcT &
TS IS FATFEAT "ol el &

difsgr
1.  37chol Tob ST &L G|
2.  d13 (Bond) I AT H STIMAR
3008
4 3. 3OIHA AIER g0 & forw 4 &hr
y HT AT
I fET 31T I AT 3TANT e TEY 3R
e
l L e
23R 38
c. dd3
d.  PIEI

35. A Scanning Electron Microscope (SEM)
uses focused beams of electrons to
render high resolution, three-
dimensional images. SEM has
applications in which of the following

areas?
1. Agriculture
2. Testing new vaccinations and
medicines

3. Microchip production




4. Criminal and forensic
investigations.

Select the correct answer using the
code given below.

1 only

3 and 4 only
2,3 and 4 only
1,2,3and 4

o o0 T w

35, Ueh TohioldT Soldrelel ATSShITHIT (SEM)

3Td Gehod, did-3TATHT STaar &l
T & & [T Solerciel & hige
1A T 3T FAT g | SEM H
feFfafed & & fora &t  sregorter
& |
1. HY

[

2. AT Eh 3R Gar3it &1 aeToT

3. HABHINY 3cdged
4, RIS 3R BR&S S|

A feT 37T I FHT 3TART e Tl 3T
e |

a. léT

b.  Hde33i4

c. 2,33Ragr

d  1,2,33Rk4

36. (P x Q) means P is sister of Q, (P + Q)

means P is daughter of Q, (P - Q) means
P is the father of Q, (P + Q) means that P
is the motherof Q. A+BxC+D-F
Which of the conclusion (s) can be
drawn from the following statement(s)?

o »

Ais mother of F.

D is father of B.

F is the son of A.

B and C are sisters of F.

P wnNe

Select the correct answer using the
codes given below:

a. 1,2and3
b. 2,3and4
c. 1,3and4
d. 1,2and 4

36. (P x Q) FIIAP, QT8 &, (P+ Q) FT
ITEP, QHIAENE, (P-Q) HTITR P,
QarRarg, (P= ) AT FHp, AT

Q. AxBxC+D-Fasay AT Hiaar
FUA A TTET FUT & [Heprarr ar
W%?

A, F@?ﬁ%l
D, B & FUar gl

FASIIE]

4. B3IRC FHRITEAZ
AT feT 37T I T 3YATT Fh Tl 3aX
e

a. 1,233

b. 2,33R4

c. 1,334

d. 1,234

37. The moderates submitted its
grievances/demands in the form of
petitions before the British
Government.




Which one of the following was not
one of these early demands?

a. Increased participation of Indians in
the legislative assembly.

b. Indianization of civil services.

c. Provide education in vernacular
language.

d. Reduction of military expenditure
and tax burden

37. TSIfeer TR o gaeT AR & &

H ACIEAT o 3194 R / AT
TEJ |

fAFfa @ & @ shlet A1 ge7 Q3T AT
H O U T8 AT?

a. maamﬁmﬁaﬁrmﬂarh
e

b. ARG HAT3HT T HARAIFT|

c. IR AT H A& v H|

d. T TT IR I AT HA
CXGII

38. The Tarai region of the Northern plains

supports luxurious growth of natural
vegetation and varied wild life
population. Which among the following
factors are responsible for this?

1. Re-emerging rivers from Bhabhar
flow in undemarcated channels
here creating marshy and swampy
conditions.

2. All fertile coarse load is deposited
at Tarai region after rivers re-
emerge from Bhabar region.

3. The Tarai region is crossed by large
Himalayan rivers which regularly
deposit silt and clay here.

Select the correct answer using code
given below.

a. lonly

b. 1and3only
c. 2and3only
d. 1,2and3

38. 3T AT+ T TS &1 TTehicieh

gereafaar 3k fafaer ae Shaet 3memdr

& QATTER TAhTE T FHYT HLT |

o f@a srer # O Fid g@ fow

SFeR &?

1.  $TeR O el AT T8l b
aﬁwﬂmﬁaﬁ%ﬁ?

I ' h C\oidoil 3R georea Feufa der
aﬂ—cﬁ%ﬂ

o, g3l 3T Al IR RIS ST H
AT 819 § AfeaT & T 4
39 & &1G STATEId & |

3. oIS &1 93 fRATerRy Afear ganT
9R fRar Sirar g s fAafaa s
q gl 917, 3R A ST e
gl

I fEU 31T I8 BT YT hlch Tl

IR YA
a. 18r
b.  hacdl 133




233 & 2. The .proceedings of the Congress
sessions were conducted
d. 1,2 3iR3 democratically.
3. The national leaders struggled for
separation of judicial and executive

G

39. If the 'real exchange rate' of a currency

. . . powers.
with respect to a foreign currency is
greater than one, it implies: Which of the statements given above
a. Foreign currency is more is/are correct?
expensive than domestic
P a. land2only
currenc
] Y b. 2and3only
b. Foreign goods are more
e than d " q c. land3only
expensive than domestic goods
P 8 d. 1,2and3

c. Domestic currency is more

expensive than foreign currency 40. AFATITET FYUAT R TR L

d. Domestuc goods are.more 1 9% e ; .
expensive than foreign goods. B

39. afe; faeel ogar & waier & ey 1 4 & &9 3 farar arm 2|
a'rz-—clfaa:faﬁmra?'wﬁaﬁa;% B 2 FFEEREEEm
ar ST AT & ARdTeh alieh & AT
a. uch\Iﬁd«mﬁﬁ?‘:@ﬁﬂ?ﬂ I‘
OF AN Y rrwawﬁmaﬁﬁ—aﬁmaﬂr
b. ﬁé&ﬁwwmﬁr PIIBRT ATFATT T 3TeT3T Py
c. Tadefr Aar I g 7 T A IR T IV FYAT H QT ATTET &/ 87
e a3 2 Fae 132
d.  fagel aE3i I ettt 7 ae] b.  23R3&
AT 3T HE & c. FEA13R3
d. 1,233

40. Consider the following statements:
1. From the beginning, the Congress
was organized in the form of a
Parliament.

41. Which of the following can be
considered to be the implications or
effects of inflation targeting?

1. It reduces flexibility in monetary

policy.




2. It helpsin avoiding boom and bust 2. Increasing association of Indians in

cycles. every branch of administration.
3. Workers do not demand higher 3. To disclaim any intention to annex
wages. Indian States.
Select the correct answer using the code Select the correct answer using the code
given below: given below.
a. land2only a. lonly
b. 2and 3 only b. 1and2only
c. land3only c. 2and3only
d. 1,2and3 d 1,2and3
41. fAEAfi@d 7 4 ford FereRfa aea 42, HRA TR ARAATH, 1919
0T & [ATRATY AT THT ATAT ST Hehel fArIfaf@a 7 @ i @ 352 a7
g? 1. fefer @R S aiva fifa & &
S
1. %ﬁ%mﬁﬁmaﬁw‘ H 7RI A FFAER SR |
L
EXGIE] 2. GRITHe T Icdeh ATET H AR
2. ¥ gH R SFC wisfha & a9 <l HE AT SGTeTT |
H FAcg gl R T T T il h
3. A% 3T ASGY S AT 6T ﬁ»—é’raﬂmwmaﬂﬁas
Ean
=i ST 31T I8 1 3TN s Tal mﬁﬁcmaﬁgwmmaﬁw
ERRECCE el |
a. Fad 1312 a. léT
b.  23R3& b. ohdel13R2
c. | shael 13113 c. 23R3g
d 1,233 d 1,23R3
42. Which among the following were

43. With reference to the history of
literature in ancient India, which one of
the following is not correct?

objectives of Government of India Act,

1919?

1. Responsible Government in India as
declared policy of British
government.




43,

44,

Ashvaghosh the writer of Select the correct answer using the
Swapnavasavdatta, was patronized code given below.
by Kushanas.

b. Avadanas composed in Buddhist Z' 1’ ; ::j : Z::y
hybrid Sanskrit were to preach c. 2' 3and 4 only
Mahayana Buddhism. d- 3’ 4ands only
c. Junagarh inscription presents the Y Y
earliest specimen of kavya style 44. Hﬂﬁd’lﬁ’fé:?l’dﬁﬂ, foeT 7 & fhgenr
d. L(:XTa sutra of Vatsyayan is a secular S| R Ererl )Gﬁ_q’a?
. T geffera fora ?
grdlel IR & A1fgcd & sfdgra & w9 H qafie AT
st #, BT 3 & e el L. St
e 2
a. TAAGIHdEdT & oI@eh 379U, e 3 SO HOTCH
HNTUT o E&Th | [ 4. FEQ
b, ey Ho weper 3 T e Sl
P AR S e g L (TG 9T IS T ITAT I Hel I
) ' el |
CXGIEIN I ° == = el
c.  SATG Rreera e Qe 2 HEE, 281
e Tgell ST Tl el & db' hael 1, 331K 5
d.  JICEATI &I HH FT Th ¢ 2,334@
erfERET aTe & d. de3,43R5

With reference to marine organisms,
which of the following are classified as

45. To finance its deficit, government
prefers borrowing from public over RBI.
What can be the best reason for this?

Benthic (lower-most ocean surface)

a. Rate of interest charged by RBI is

organisms? .
1. Jelly-fish igher.

b. Government has to return the
2. Corals ihisiedoting °
3. Lobsters SLertn o within a fixed perio
4. Oysters gt;;nel:; o o
5. Dolphins c. Public borrowing does not affec

the money supply in the market.




d. Itincreases the sale of
government bonds.

45. 3191 ©7 T T A & fIT, TIHR RB|
A AT A 3R AT 9HS T &
SHT GO 3TTOT HIRUT FAT 8T ThdT 62

a.  RBIEART folv 31T AT T &3
R gl

b. TR FI ARTT gAIEar A
RET3TS ol AR elteredr gref|

c. HAATAS IUR IR A $q
K GEAREIIECE RGN

d. %Wﬁa@ﬁﬁﬁﬁm(
gl

46. What is X in the sequence given b
287,167,119,47, 23, 7,
a. 4
b. 8
C.
d. 3 s bl

46.Fﬁ%rﬁ'(’?l'(f3ioj_,9h+l X FIATE: 287,

167,119,47,23,7,X?

a 4
b. 8
o 2
d 3

47. Consider the following statements:
1. If one country has higher inflation
than another, its currency should
ideally be appreciating.

2. If aggregate demand of a country
grows faster than the rest of the
world, its currency should ideally
be depreciating.

Which of the statements given above
is/are correct?

1 only

2 only

Both 1 and 2

. Neither 1 nor 2

47. FAATITRT HUAT IR IR
1. iE Teh S H G I Jolell A

o o0 T w

31T HeTEhia 8, Y gt HaT
T TG T T TGAT T SATeAT
By
2. e el S & el AT G o6
ST e & JofelT # ot &
TGl §, AT SHehT HaT ol 31Tee
‘ Y § Hede 4 glell AMg |
FRIGUITHYAT HARIA AT T 6 /87
a. 1é’r
b. a2
C. glar 1 3R 2
d. Jdr13ik=T8gr2

48. During monsoon season the ITCZ (Inter
tropical convergence zone) shifts almost
upto 25°N latitude over the Indian
subcontinent while it rarely crosses
15°N latitude in other regions. Which
among the following reasons best
explains the phenomenon?




1. Vastlandmass of Eurasia located
to the North of the Equator.

2. Intense low pressure over the
North western region of Indian
subcontinent.

3. Shifting of Westerly jet streams to
the North of Tibetan plateau.

Select the correct answer using codes
given below.

a. land2only
b. 2and3only
c. land3only
d. 1,2and3

48. AT & HIGH o aRIeT SRS

HN AT IUAGIGATT I SfaT37aT 25°N

yﬁ%raanﬂaﬂaa’fm%,aa% i

—, v T

u‘gﬂ&ﬁfﬁ%mé‘rmﬂﬁl\l

H&ﬂTQTHﬁWWT%IﬁHﬁ@H

Wﬁﬁaﬁa%ﬁucmﬁuwacw

THSIIAT &2

1. AT @& 31 H [Fud IR
T TarITeT 8- 4TeT |

2.  HRAR™ 3YAGIEAIY & 3
TiTAT 819 I T Teh hA
GEICH

3. fdssd TR & 3R H a¥clell oic
HRT3AT T TUTATAOT|

A feT 7T IS T 3TN b Tl 3TN

T |

a. Had13iR2
b. 2338
c. Hhad13ik3
d. 1,23R3

49, With reference to Indian Councils Act,
1892, which of the statements given
below is not correct?

a. It provided that Indian members of
Imperial Legislative Council could be
elected indirectly.

b. Itincreased the number of non-
official members in the legislative
council.

’ : —eprovided for establishment of new
(ICTZ) (3T 3suTehfeati 31fATor &19) p
-

legislative councils in Bengal and
Punjab.

d. It provided the power of discussing
the budget to the legislative council.

49. ;RFﬂ?TETﬁ'q—?\' 37fAATA, 1892 & TS

3, A R e et 2 e

‘_F_l?’r%?

a. U Yl Xl & foh SURTT
faerer aRwe & s weear
I TTcTET TG I AT ST FehTl
gl

b. 3 faume uRwe H -
TR e &l hT F&aT H
gefa |

c. 3 SN 3R gore 7 7% e
afwel & wur9e & faw
T FeTe |




el Fofe UX T el I LM
faermsT aRwe &l yeret shr

d.

50. Which of the following statements
is/are correct regarding Monetary
Transmission?

1. It refers to the process by which a
central bank’s monetary policy
decisions are passed on to the
financial markets.

Rising Non-Performing Assets

(NPAs) and higher returns on small

savings schemes may hinder

effective monetary transmission.

Lowering of CRR and SLR

requirements may help ensure \.‘

3. HI3R3N 3R THTCANR
AT AT T He Il T
Tl Hifeeh TeRor giAfRead
ol H HGG AT Hehcll ¢ |

A feT 37T IS T 3TANT T Tar

IR G|

a. $ad 133

b. 23R3&

c. had13R2

d. 1,233

effective monetary transmission. :
Select the correct answer using

code given below.

land3o0
2and 3 on
1 and 2 only
. 1,2and 3

50. Hifgew TaROT & oy A fAefai@ad &
U FiT ATHAT TEE / &2

Ig 39 ufshar T T Aear g
TS GaRT Ueh el e &t
A hifa & oo fadig
STSIRT &l 9T 3T ST1a €|
(TTd0) 3R BIET T AISTAT31
W 31T Reat gerrdt Alfgs
TR 3 ST S Hehell B

\
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